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I mag  Integration time (ms) 
  4 10 20 30 40 50 

3.0 3105           
3.5 1959           
4.0 1236 3090         
4.5 780 1950 3901       
5.0 492 1230 2462 3691     
5.5 310 776 1553 2329 3105 3880 
6.0 196 490 980 1470 1959 2448 
6.5 124 309 618 927 1236 1545 
7.0 78 195 390 585 780 975 
7.5 49 123 246 369 492 615 
8.0 31 78 155 233 310 388 
8.5 20 49 98 147 196 245 
9.0 12 31 62 93 124 154 
9.5 8 19 39 59 78 97 

10.0 5 12 25 37 49 61 
10.5 3 8 16 23 31 39 
11.0 2 5 10 15 20 24 

Table 1: Max. CCD counts as function of I magnitudes for different integration times 

 



 
 
Fig.1: Maximum CCD counts are plotted against I magnitudes for all three telescopes. A 
least square fit to the data are shown and the best fit parameters are given. 
 

Fig2: Same as figure 1, but all three telescope values are used together. A least square fit 
to the data and the best fit parameters are given. 
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Fig.3: Maximum CCD counts are plotted against V magnitudes (left) and R magnitudes 
(right) for all three telescopes. Top three rows correspond to Telescope A, B & C 
respectively and the bottom row shows all three telescope data together. 


